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The sum to n terms of the series
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For two unequal numbers, AM. =4and GM. =2.
Then H.M. =

(@) 12 (b) 1

(c) 2 (d) 3

If the m™ term of a H.P. be n and the n'" term be
m, then the (m n)™ term is

(@) 172 (b) 13
©) 1 (d) 2

If log, (5.2¢+ 1), log, (2" + 1) and 1 are in A.P,,
then x equals

(a) log, 2

(b) 1-1log, 5

(c) log,5

(d) None of these

Ifa,a,a,, .. isanA.P. such that

1! 2! 3! .
a, +a;+a,+a,+a, +a, =225 then
a, +a,+a,.+a,=
(@) 75 (b) 750

(c) 900 (d) 90

.

AVIRAL CLASSES

CREATING SCHOLARS

X2, x4 18, xY16 | to oo is equal to
(a) 0 (b) 1
(c) x (d) None of these

Let S denote the sum of first n terms of an A.P. if
S,,=3S,, thentheratio S, /S is equal to

(a) 4 (b) 6

(c) 8 (d) 10

If a+b7 ,ﬂ are in A.P, then a 1,0 are in
l1-ab  '1-bc ' "b

(@) AP (b) GP.

(c) H.P. (d) None of these

If the ratio between the sums of n terms of two
A.P.’sis 3n + 8 : 7n + 15, then the ratio between
their 121 terms is

(@ 7:16

(b) 16:7

(c) 74:169

(d) 169:74

Ifx>1,y>12z>1, arein GP, then

1 1 1
1+Inx'1+Iny ' 1+Inz

are in

(@) A.P.
(b) GP.
(c) H.P.
(d) None of these
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(b) Let 7'_be the rth term of the given series. Then,

2r+1

_ 2r+1 _ (l_ 1 )
T rl6)r+) 2r+l)  \r rel

-o{(1-3) (-3} -5

(b) Since A.M., G.M. and H.M. are in G.P,, therefore
G’=AH = 4=4H = H=1
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3. (c) Let a be the first term and d be the common difference
of the copresponding A.P. Then,

1

n=m'"term=—"—"—"—"— = g+(m-1)d=

o (m=a ()

1
n

.. (i)

1
imilarl o _ =oae
Similarly, a+(n-1)d

] 1 1
Solving these two equations, we get a = —,d =—
mn mn

So (mn)" term of the H.P.

1
~ (mn)" term of the corresponding A.P.

1 1
B a+(mn-1d -

=1

L+(mn— l)*l—
mn )

4. (b) " The given numbers are in A.P.
: 2log, 2" +1) = log, (52" + 1) +1

2
> 2log, (27”) = log, (5.2" + 1)+log,2
= ] . 1
=5 5 08, ;*’ =log2(5.2‘+l)2

2
= g (?*‘)

= . —2—;+1

il

log, (10.2+2)

102" +2

It

5 —+1
X

= 107 +y-2=0 = (59y-2)(Qy+1)=0

y=2/5 or y=-1/2. = 2*=2/5 or 2*=-1/2
x=log, (2/5) [+ 2x can not be negative]
X = log~2 2-log, 5

10y +2, where 2* =y

Uy

x¥=1~log, 5
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5. (c) we have
' atastay,tagtay,ta, =225
= (a,*a,) * (a5 +ay) + (4, +a,) =225

= 3(a, +a,) =225

In A.P, nth term from beginning + nth term from

end = 1st term + last term

+a.. =175
= a, ta,, 15
+a +a +ta + +
R R 2 R — a,,
+ +(a. + +
= (a] a24) (a, a23) ................ + (a12 +al3)

12(a, +a,,) = 12.75 = 900

6. (c) We have,
11 1 1
x2.x4.x83.x16 tow

111 1 12
—+—+—+—+..10 ® —_—
=x2 4816 =x-12 = &

7. (b)Given that S, =3S,

2n 3n
= 5 [2a+@n-1)d)= 7 2a+(n-1)d]

= 2a=(n+1)d
Sy, 3n/2[2a+(3n-1)d]
Now g "= Tal2[2a +(n- 1)d]

_ 3+ 1)d +Bn-1d] _
[(n+1D)d+(n-1)d]

8. a+b b+c

(©). 1—ab’? 1_pe € in A.P.

_a+b b+c
l-ab 1-bc

=

a(b® +1) _c(b? +1) (l—ab) _1-bc
1-ab 1-bc s a c

= —l+b=—]——b = 2b=l+l
a c a C

= a,%,c are in H.P.
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9. (a)Replacing nby (2 x 12 - 1y i.e. 23, we have :

. . 3x23+8 7
Requlredrano———7x23+]5—16
10. (c) Since x, y, z are in G.P. Therefore y2 =xz
= 2hy=Ihx+Inz
= 2+2Iny=(1+Inx)+(1+Iz)
= 2(+Iny)=(1+Inx)+(1 +1In2)
= l+Inx,1+Iny 1 +Inzarein A.P.

1 11
l+lnx’1+Iny’ 1+Inz

, are in H.P.
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